FEM3D-Partl

Aw 2 AA : INPUT _GRID (1/2)

#include <stdio. h>
#include <stdlib.h>
#include “pfem_util.h”
#include “allocate. h”
%oid INPUT_GRID ()

FILE *fp;
int i, j,k, ii,kk nn, icel,iS, iE;
int NTYPE, IMAT;

if ( (fp=fopen (fname, “r”)) == NULL) {
fprintf (stdout, “input file cannot be opened!¥n”);

exit(1);
/%
NODE
%k /
fscanf (fp, “%d”, &N) ;
NP=N;
XYZ=(KREAL**) a| | ocate_matrix (sizeof (KREAL), N, 3) : XYZ [N] [3]

for (i=0; i<N; i++) {
for (j=0; J<3; j++) {
XYZ[i1[j]1=0.0;

J

for (i=0; i<N; i++) {
| fscanf (fp, “%d %If %If %If", &ii, &XYZ[i][0], &XYZ[il[1], &XYZ[i]l[2]);
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allocate, deallocateg%

#include <stdio. h>
#include <stdlib. h>
void* al locate_vector (int size, int m)

void *a;

if ( (a=(void * )malloc( m * size ) ) == NULL ) {
fpri?¥§(stdout,”Error:Memory does not enough! in vector ¥n”);
exi ;

} .
e e al |ocate ZFORTRAN & (=
void deal locate_vector (void *a) %ﬂ':béf:&)o)&ﬁ’!ﬂ

free( a );

void** allocate_matrix(int size, int m, int n)
void **aa;
Int I,
7 fpri2¥f(stdout,”Error:Memory does not enough! aa in matrix ¥n”);
exit(1l);

if ( ( aa[0]=(void * )malloc( m * n * size ) ) == NULL ) {
fpriq?f(stdout,”Error:Memory does not enough! in matrix ¥n");
exi ;

for (i=1;i<m; i++) aal[il=(charx)aal[i-1]+size*n;
return aa;

J

void deal locate_matrix(void **aa)

free( aa );

J
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Aw 2 AA : INPUT _GRID (2/2)

/%

*k /

/%

%k /

ELEMENT ICELNOD[i[[jjd % & LTI
fscanf (fp, “%d”, &I CELTOT) : i FESIBELE AT S

| GELNOD= (K INT##) al locate_matr ix (si zeof (KINT). ICELTOT,8): D € P FEFaAFIAFENTLVD,
for (i=0; i<ICELTOT: i++) fscanf (p. “%d”, SNTYPE) ; TEED($0 DSBS,

for(iceI:O:iceI<IC§LTOT:iceI++){
fscanf (fp, “%d_%d_%d %d %d %d %d_%d
&ICELNOD[icel][0], & ICELNOD[icel][1],
&ICELNOD[icel][4], &I CELNOD[icel] [5],

%d %d”, &ii, &IMAT,
g 8ELNOD[iceI][2],&ICELNOD[iceI][3],

ICELNOD[icel][6], &I CELNOD[icel][7]) ;
ICELNOD[ICELTOT][8]

I_II_I

NODE grp. info.
fscanf (fp, “%d”, &NODGRPtot) ;

NODGRP_INDEX=(KINT* )allocate _vector (sizeof (KINT), NODGRPtot+1) ;
NODGRP_NAME =(CHAR80%) al |locate_vector (sizeof (CHAR80) , NODGRPtot) ;
for (i=0; i<NODGRPtot+1;i++) NODGRP_INDEX[i]=0;

0

for (i=0; i<NODGRPtot; i++) fscanf (fp, “%d”, &ODGRP_INDEX[i+1]) ;
nn=NODGRP_ INDEX [NODGRPtot] ;
NODGRP_ITEM=(KINT*) al locate_vector (sizeof (KINT), nn) ;

for (k=0; k<NODGRPtot; k++) {
i S= NODGRP_INDEX [k ;
ES NODGRP INDEX[k+1]
fscanf (fp, “%s”, NODGRP_NAME [k]. name) ;
nn= iE - iS;
if(nn!=0){
for (kk=iS;kk<iE;kk++) fscanf (fp, “%d”, &NODGRP_ITEM[kk]) ;

}
fclose (fp) ;
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BRT—H

cube.O

1 1 1 2 7 6 26 27 32 31 icel, imat, ICELNOD[icel][0-7]
2 1 2 3 8 7 21 28 33 32
3 1 3 4 9 8 28 29 34 33
4 1 4 5 10 9 29 30 35 34
5 1 6 7 12 11 31 32 37 36
6 1 7 8 13 12 32 33 38 37
7 1 8 9 14 13 33 34 39 38
8 1 9 10 15 14 34 35 40 39
9 1 11 12 17 16 36 37 42 41
10 1 12 13 18 17 37 38 43 42
11 1 13 14 19 18 38 39 44 43
12 1 14 15 20 19 39 40 45 44
13 1 16 17 22 21 41 42 47 46
(&RhERR)
42 1 62 63 68 67 87 88 93 92
43 1 63 64 69 68 88 89 94 93
44 1 64 65 70 69 89 90 95 94
45 1 66 67 12 1 91 92 97 96
46 1 67 68 73 12 92 93 98 97
47 1 68 69 74 13 93 94 99 98
48 1 69 70 75 14 94 95 100 99
49 1 76 11 82 81 101 102 107 106
50 1 11 78 83 82 102 103 108 107
51 1 78 79 84 83 103 104 109 108
52 1 79 80 85 84 104 105 110 109
53 1 81 82 87 86 106 107 112 111
54 1 82 83 88 87 107 108 113 112
55 1 83 84 89 88 108 109 114 113
56 1 84 85 90 89 109 110 115 114
51 1 86 87 92 91 111 112 117 116
58 1 87 88 93 92 112 113 118 117
59 1 88 89 94 93 113 114 119 118
60 1 89 90 95 94 114 115 120 119
61 1 91 92 97 96 116 117 122 121
62 1 92 93 98 97 117 118 123 122
63 1 93 94 98 118 119 124 123
64 1 94 95 100 99 119 120 125 124



FEM3D-Partl

A

w2 AFB : INPUT GRID (2/2)

/%

*k /

/%

%k /

ELEMENT
fscanf (fp, “%d”, & [CELTOT) ;

| CELNOD= (KINT=*x*) al locate_matrix (sizeof (KINT), ICELTOT, 8) ;
for (i=0; i<ICELTOT; i++) fscanf (fp, “%d”, &TYPE) ;

for(iceIfO |C$L§ICE&£O}d|?§I7§){,
&%ﬁmmméu&ﬂm&lNODGRP INDEX[NODGRPtot+1]
NODE grp. info. NODGRP_ITEM [nn]

fscanf (fp, “%d”, 8NODGRPtot) ; nn= NODGRP_INDEX[NODGRPtot]

NODGRP_INDEX=(KINT* )allocate _vector (sizeof (KINT), NODGRPtot+1) ;
NODGRP_NAME =(CHAR80%) al |locate_vector (sizeof (CHAR80) , NODGRPtot) ;
for (i=0; i<NODGRPtot+1;i++) NODGRP_INDEX[i]=0;
for (i=0; i<NODGRPtot; i++) fscanf (fp, “%d”, &NODGRP_INDEX[i+1]) ;
NODRRD. | TEMC LK 1T | loomte. veotor (si zeof (INT). nn)
ITEM= %) al locate_vector (sizeo ,nn) ;
ERIgIL—ToheEM1]h

for (k=0;k<NODGRPtot; k++) {

iS= NODGRP_INDEX K] ; HIRFEHBELE EABESMNFD
E= NODGRP_ INDEX [k+1 .

%scanE(fp S%s N(gDERI]D " NAME [K]. name) : FEFAIAFENTULNS,

nn= It — |

if(Cnn 1=0){

for (kk=iS;kk<iE;kk++) fscanf (fp, “%d”, &NODGRP_ITEMLkk]) ;

}
fclose (fp) ;
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4 NODGRPtot
. 25 50 75 100 NODGRP INDEX$1 -4]
Xmin NODGR E
1 6 11 16 21 26 31 36 41 46 NODGRP ITEM[0-24]
51 56 61 66 11 76 81 86 91 96
. 101 106 111 116 121
Ymin NODGRP NAMEE1]
1 2 3 4 5 26 27 28 29 30 NODGRP_ITEM[25-49]
51 52 53 54 55 76 71 78 79 80
. 101 102 103 104 105
Zmin NODGRP NAMEEZ]
1 2 3 4 5 6 Ji 8 9 10 NODGRP_ITEM[50-74]
1 12 13 14 15 16 17 18 19 20
21 22 23 24 25
Zmax NODGRP NAMEE3]
101 102 103 104 105 106 107 108 109 110 NODGRP_ITEM[75-99]
111 112 113 114 115 116 117 118 119 120
121 122 123 124 125



